E-LANGUAGE VS. I-LANGUAGE: Rules or Sets
Stainton
An E-language conception of language holds that language is extensional.  Language is extensional if and only if language is just the set of all the linguistic expressions.  When you take an extensional view of the syntax of a language, all you can say about the grammaticality of any given expression is whether it is in or out of the set.
An I-language conception of language holds that language is intensional (as well as extensional).  Language is intensional if and only if language is the set of rules that can generate the set of linguistic expressions.

ARGUMENTS FOR AN E-LANGUAGE DESCRIPTION

ONTOLOGICAL SPARSENESS:  Allows us to explain things without creating objects whose existence we cannot verify.

ARGUMENTS FOR AN I-LANGUAGE DESCRIPTION

FUZZY BOUNDARIES:  The existence of utterances that are in the set in some respects but out of the set in others seems to argue for the existence of rules that account for this.  The view of language as a set of expressions does not seem to explain the partial set membership.
GRADED MEMBERSHIP:  An intensional account of language can explain why one expression is better than another in terms of obedience to the rules of the language.  An extensional view can only say whether the expressions are members of the set or not.

THE SIMILARITIES/DIFFERENCES BETWEEN LANGUAGES:  
We seem to need to appeal to rules to account for the fact that certain languages sound familiar or different depending on what language one already speaks.  
For example, consider a sentence as it appears in English and Spanish and the conversion of that sentence into a question.  

(1) The soccer ball is in the yard.

(3) El futbol esta en el jardin.

(2) Where is the soccer ball?


(4) Donde esta el futbol?

In both English and Spanish the question is form by putting a word for place “Where” and “Donde” at the beginning, putting the word “is” just after, and then putting the name of the item about which the speaker is asking.  This similarity would make us think English and Spanish are similar, more similar than a language in which the structure (syntax) is different.  Linguistic rules (which are intensional) would show this difference.

THE PROBLEM OF EXTENSIONALLY EQUIVALENT GRAMMARS:  
Any given set, including the set of acceptable linguistic expressions, can be described in or generated by more than one way.  If we take an E-view of the language we have to say that all the descriptions are equally valid.  Yet it seems clear that speakers use one rule set and not another.  But to explain the difference between the different approaches we have to appeal to rules, which don’t exist in the E-view of language.  Also, if there is no rule set, how can linguistics be a science?
